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Question Number : 1 Question Id : 7715134936 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W WA H ot I & 0 & U AERs W 9¢ (T,) @ T, = Tinb 8N i 1 8, W@
80% & AWM R Wb=-03228 I Ted IHe(T; ) & FHU-T79 80TH ¢ §, @ 80% &
W & W Ugd 4THE & MHIU & U e 9 I (@ Ul H) fba @

The man-hours required (T, ) to manufacture the n unit in a plant is given by T, = T;n°, where
b=-0.322 at the 80% learning rate. If the manufacturing time for the first unit (T; ) is 80 man-hours,
what is the total time (in man-hours) required to manufacture the first 4 units, at 80% learning rate.

(a) 322.11 (b) 251.35 (c) 103.76 (d) 5L.19

Options :
1.a
2.b
3.c
4.d

Question Number : 1 Question Id : 7715134936 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W 7 H ot g & iU & U Aews o1 68 (T,) @ T, = Tinb N o0 T 8, R
80% B W W Wb=-0322¢ A et YHe(T; ) 1 FHU-GHT 80GH UC B, ol 80% b
HYH W R gd 43 & HEi & fou e $a T (o b9 ©) fod 9

The man-hours required (T, ) to manufacture the n unit in a plant is given by T, = Tyn°, where
b=-0.322 at the 80% learning rate. If the manufacturing time for the first unit (T; ) is 80 man-hours,
what is the total time (in man-hours) required to manufacture the first 4 units, at 80% learning rate.

(a) 322.11 (b) 251.35 (c) 103.76 (d) 5L.19

Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134937 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

16 IR JuTel # &5 TAM 9ed 1 o YOIl i ot 0.97 @ I e o
B! fourliae 0.68 8, @ WORH W0 e 91 W [ & (AR alds W
2, o 9T IR i A pifed B

There are a number of identical components in a parallel system. When the system reliability
150.97 and the reliability of each individual component is 0.68, What is the number of identical

components in the system (if actual value is a fraction, it may be rounded up to the next higher
integer).

(a) 2 (b) 4 (c) 6 (d) 8

Options :
1.a
2.b
3.c
4.d

GET IT ON
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Question Number : 2 Question Id : 7715134937 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

6 JHIR WOIl H 3 F 9e | e JuTdl @l foueriaa 0.97 W ydd i Ted
! Tyl 0.68 €, ol WOT WA 9wl @ GO fod g @l aRld A I
2, o 9T TR i i B

There are a number of identical components in a parallel system. When the system reliability
i50.97 and the reliability of each individual component is 0.68, What is the number of identical

components in the system (if actual value is a fraction, it may be rounded up to the next higher
integer).

(a) 2 (b) 4 (c) 6 (d) 8

Options :
1.a
2.b
3.cC
4.d

Question Number : 3 Question Id : 7715134938 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

gfe IR 95%, TG GaT 70% U4 TURT IAIE @I & 98% o, d WY JUBY &I FHIA
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If availability is 95%, performance efficiency is 70%, and the rate of quality products is 98%, then
find out the overall equipment effectiveness.

(a) 42% (b) 65% (c) 75% (d) 50%

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134938 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

oG, SUSK 95%, MG C&T 70% Td Tl SAE Bl &Y 98% , ol U SUBU BI YHIfdal
@1 Tl |

If availability is 95%, performance efficiency is 70%, and the rate of quality products is 98%, then
find out the overall equipment effectiveness.

(a) 42% (b) 65% (c) 75% (d) 50%

Options :
1.a
2.b
3.C
4.d

Question Number : 4 Question Id : 7715134939 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Which of the following is concerned with the routing function in the production system design

(a) THGRIGT SWF/Manpower utilization

(b) F&fH JUEF/Machine utilization

(c) JdIc @I IO SHTE/Quality assurance of the product
(d) WIP SHdedl 3 S/ Optimizing WIP inventory
Options :

1.a

2.b

3.c

4.d

Question Number : 4 Question Id : 7715134939 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e & @ M- Sy sftmer  AvieRe a1 ¥ defid 8

Which of the following is concerned with the routing function in the production system design

(a) TFGRIGT JUEF/Manpower utilization

(b) HEH Y Machine utilization

(c) Jelg I U 3M4E/Quality assurance of the product
(d) WIP Hdedl 3F@d HRA1/Optimizing WIP inventory
Options :

1.a

2.b

3.c

4.d

Question Number : 5 Question Id : 7715134940 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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g Rl # U veigAe AM 9, U fdmedl # ¥ MAD AH &1 UgaH @}

From the forecast values given in the table below identify the MAD value from the options.

TEHMonth | fawY/Sales @Hﬂﬁmorecnst
1 250 235
2 210 205
3 300 320
4 325 315
(a) 20 (b) 15

Options :

1.a

2.b

3.¢C

4.d

(d)

P17

GET IT ON
Google Play

Question Number : 5 Question Id : 7715134940 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

g rolt o U qeieH A 9, U fdwedl @ ¥ MAD 9H &1 UgaH @)

From the forecast values given in the table below identify the MAD value from the options.

TeHIMonth | faml/Sales Wﬁmorecnst
1 250 255
2 210 205
3 300 320
4 325 315
(a) 20 (b) 15

Options :

1.a

2.b

3.¢C

4.d

(d)

2

Question Number : 6 Question Id : 7715134941 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

i @Y / Mateh the following:

gATad/Mechanism R/ Machines
P.%d WoM/Quick Return | 1. /Lathe

Q. UW/Apron 2. ®0U/Shaping
R. RIS e 3. fIR glad vepd
Intermittent Indexing Gear Hobbing
. fanel mact 4. T8O/ Milling
Differential Mechanism

fofefed o ¥ el fame g/Choose the correct option from below:

(a) P1-Q2-R4-S3
(c) P4-QL-R2-S3

Options:
1.a
2.b
3.c
4.d

(b) P2-Q1-R4-S3
(d) P2-Q3-R1-84

GET IT ON
Google Play

Question Number : 6 Question Id : 7715134941 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e @X / Match the following:

gATad!/Mechanism TR/ Machines
P. §d WiFH/Quick Return | 1. T/Lathe

Q. UI/Apron 2. ®0U/Shaping
R. 3RS i 3. fR glad wo
Intermittent Indexing Gear Hobbing
S, fand daac 4, T0/Milling
Differential Mechanism

Fofafed ¥ ¥ W fdde TH/Choose the correct option from below:

(a) P1-Q2-R4-S3
(c) P4-QL-R2-53

Options :
1.a
2.b

(b) P2-Q1-R4-S3
(d) P2-Q3-R1-54
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3.C
4.d

Question Number : 7 Question Id : 7715134942 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g0 ol @t @i W 215,000/ 91 e IAE 800000 AT 71 AN UMY SHfaie
AH 9 @ foar 3, Forel £10 um @1 el &1 <Y o (QHEM o) GRS g1 36
8| SUGT @I Uid HE O TG fo g2 (@ AE A @I 0.833 AW)  The annual cost of

the control system is Z15,000/- and the annual production is 800000 units. The characteristics value
to be controlled is the dimension of the product, which has a tolerance of £10 um. The loss caused
by the defective piece (Rework cost) is ¥6/-. What is the quality cost per unit of production?
(Consider mean square error as 0.833)

(a) 70.064 (b) 70.64 (c) 20.05 (d) 20.50

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134942 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A oreht &1 i oTd 215,000/~ T affd I 800000 e 71T U aiftietm
AH 3G @t oA &, o 10 um @ FEa &1 OO oY (TROM T GRS g %6
81 JUE B Wi gHe O T fbo g2 (@ W e @l 0.833 M) The annual cost of

the control system is Z15,000/- and the annual production is 800000 units. The characteristics value
to be controlled is the dimension of the product, which has a tolerance of £10 um. The loss caused
by the defective piece (Rework cost) is Z6/-. What is the quality cost per unit of production?
(Consider mean square etror as 0.833)

(a) 20.004 (b) 20.64 (c) 20.05 (d) 20.50

Options :
1.a
2.b
3.C
4.d
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Question Number : 8 Question Id : 7715134943 Question Type : MCQ Option Snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ool 50-50 WH H, SdEd AFS .......... Ifd T & §
In Halsey 50-50 plan, output standards are established

(a) @I I GRIBy time study

(b)qd & JdIGA Pbls /from previous production records
(¢c)U& & Uiy Wifrom one’s judgement

(d) Cﬂgﬂﬂ T4 gRT /All of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 8 Question Id : 7715134943 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ool 50-50 WH H, S HAD .......... A 6T &1 §
In Halsey 50-50 plan, output standards are established

(a) @I AT GRIBy time study

(b)qd & JdIGA bls /from previous production records
(c)U® & U U/ifrom one’s judgement

(d) Cﬂgﬂﬂ T4 gRT /All of the above

Options :

1.a

2.b

3.c

4.d

Question Number : 9 Question Id : 7715134944 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Which of the following represents a group incentive plan?

(a) ¥a JHIScanlon plan

(b) & T9HI/Rowan Plan

(c) dSia¥ TaHl/Bedaux plan

(d) gl WifH FSHIHalsey premium Plan

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134944 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofifed § ¥ oF TE- RUMEs av @ TRfia o

Which of the following represents a group incentive plan?

(2) ¥heH 1o Scanlon plan

(b) a7 FSHIRowan Plan

(c) §SIad Tol/Bedaux plan

(d) &<t Uifis JieHT/Halsey premium Plan

Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134945 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4 quicTs, fog ud 5 femie fogel ¥ 9w @ wRaed v & fof-Fmin 7 siowie oy @
g foat @

In a transportation problem with 4 supply points and 5 demand points, how many number of
constraints are required in its formulation?

(a) 20 (b) 1 (c)0 (d)9
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Options:
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134945 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4 uTr fdg ud 5 feris foge ¥ 9o 1@ uRagd W o faf-Rein § sowe @y @l
den foad

In a transportation problem with 4 supply points and 5 demand points, how many number of
constraints are required in ifs formulation?

(a) 20 (b)1 (€)0 (d)9

Options :
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134946 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFaffed # ¥ 9 @ B @1 A9d qATH (@4) &1 Uik & 82

Which of the following represents the average revenue curve of a firm.

(a) TR gfe i 1 @ @ s seaa 9 (@)
The curve representing the cost per unit of output

(b) BH & JdG & [0 JUviGet & 308 @ (@d) & §H

The same as the demand curve of consumers for the firm’s product
(c) WH GRI W Pa Wie/Total receipts realised by the firm

(d) b’d ‘¢’ GHI /Both ‘b’ and ‘¢’ above
Options :

1.a

2.b

3.¢C

4.d
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Question Number : 11 Question Id : 7715134946 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ffifed & U o @ B4 @1 A9d qNT (@4) &1 UHia B 52

Which of the following represents the average revenue curve of a firm.

(a) Ufd gHe Frf & @ &1 TRRE SdI 9 (@)
The curve representing the cost per unit of output
(b) ¥ & IdG & U JuHicael & feuis @ (@) ¥ WA
The same as the demand curve of consumers for the firm’s product
(c) W §R Wa $d e/ Total receipts realised by the firm
(d) b’ T ‘c’ GHI /Both ‘b’ and ‘¢’ above
Options :
1.a
2.b
3.C
4.d

Question Number : 12 Question Id : 7715134947 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e gidi T T

Who conducted the Hawthorn experiment

(a) fafer s/ William Gilbreth
(b) & Wi/ Hendry Fayol

(c) U6 S UR/F.W Taylor
(d) Ted TRVElton Mayo
Options :

1.a

2.b

3.cC

4.d

Question Number : 12 Question Id : 7715134947 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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e gidH wEi o

Who conducted the Hawthorn experiment

(a) faferm s/ William Gilbreth
(b) & Wi/ Hendry Fayol

(c) TF S=g CUR/E.W Taylor
(d) Tee ARVELon Mayo
Options :

1.a

2.b

3.c

4.d

GET IT ON
Google Play

Question Number : 13 Question Id : 7715134948 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
yHH Hifaag Fefifed # ¥ fowe iU 9ed SwE &

Process layout is best suited for which of the following:

(a) faRBTEROT famM/Specialization exists
(b) HEIHT @I TeIeH & HAMER W@ ol §

Machines are arranged according to sequence of operation
(c) R AFSIPd IHel 31 39 YEI SOF I 9N @

Few number of non-standardized units is to be produced
(d) oMU Jdied @I URSTH B Mass production is envisaged

Options :
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134948 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Tw SR i @ 4 R R 9 9wmE ¥

Process layout is best suited for which of the following:

(a) faRPTERUT fa=rM/Specialization exists
(b) HEIHT @I TEleH & HAMUR W@ ol §

Machines are arranged according to sequence of operation

(c) R AF@IPd gHel B 39 T8N SOF I 9 &

Few number of non-standardized units is to be produced
(d) oMU Jaied @i RS B Mass production is envisaged

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134949 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

pfofec # ¥ 3-8 CPM ¥ T uRacH &l 2l &
Which of the following defines the cost slope in CPM

(a) $Y TF/IMA T Crash cost/Normal cost

(b) (X TO-TA ) (S -8 )
(Crash cost-Normal cost)/(Normal time-crash time)

(c) WM TFRSRY 99 /Normal cost/Crash cost

(d) (S TG-S ) | (S - )
(Normal cost-Crash cost)/(Normal time-Crash time)

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134949 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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il # 3 -9 CPM # TG TRacH @l <uidl &
Which of the following defines the cost slope in CPM

(2) $Y AF/EMA A/ Crash cost/Normal cost
(b) (9 A ) (W GE-he] )
(Crash cost-Notmal cost)/(Normal time-crash time)
(c) WM TRRSRY 99 /Normal cost/Crash cost
(d) (S ARG ) /(W - )
(Normal cost-Crash cost)/(Normal time-Crash time)
Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134950 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Sl oo et i e R o e O 7 1 A e e
91l gl

In perpetual inventory control, the material is checked as it reaches its

S

(a
(b
(c
(d

IIdH HH/Minimum value
3f¥HdH A /Maximum Value
19 T /Average value
HY HH /Middle value

—

Options :
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134950 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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In perpetual inventory control, the material is checked as it reaches its

(a) =IAdH HF/Minimum value
(b) P TH /Maximum Value
(c) D nRE| HiH /Average value

(d) A9 AH /Middle value

Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715134951 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR qaa A5 B, U6 Ul ®f AW 901 oo AWgd Fd § qul 96 @ S9el e
.......... T T8 Ugadl D aviw o T i ol

In the Emerson efficiency plan, a worker receives only his daily wage and no bonus is paid fill his
efficiency reaches

(a) 50% (b) 66.67% (c) 33.33% (d) 75%

Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715134951 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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In the Emerson efficiency plan, a worker receives only his daily wage and no bonus is paid till his
efficiency reaches

(a) 50% (b) 66.67% (c) 33.33% (d) 75%

Options:
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134952 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o1 e H, qEeRe ad L & FuRu & fou wge gl 8

In time study, the rating factor is applied to determine

(a) @M 1 AF® §A9/Standard time of a job

(b) WG BT HFG YegHuR/Merit rating of the worker
(c) Wi & @1 Faa/Fixation of incentive rate

(d) Hig DT YHF §HY /Normal time of a worker

Options :
1.a
2.b
3.cC
4.d

Question Number : 17 Question Id : 7715134952 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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o1 e H, qeeRe ad L » FuRu & fou wgw gl 8

In time study, the rating factor is applied to determine

(a) @M & AH® §99/Standard time of a job

(b) TG BT HFEG YeaHuRMerit rating of the worker
(c) TiciIgd & @1 MHud/Fixation of incentive rate

(d) Higt DT YHF §HY /Normal time of a worker

Options:
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134953 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T URaE TR @ qOg & fou Euida o o oelfem & 9y o sed & fou, o
o & oS oF areh gE L 2l

To proceed with the modified distribution method algorithm for solving a transportation problem,
the number of dummy allocations need to be added are:

(@) n (b) n-1 (c) 2n-1 (d) n-2

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134953 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T URdeT T &) Jag & fau wuiaRa faavw fofY oefem & Ty oM @e & fau, seh
e @ S IR A g' L 3l

To proceed with the modified distribution method algorithm for solving a transportation problem,
the number of dummy allocations need to be added are:

(a) n (b) n-1 (c) 2n-1 (d) n-2
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Options:
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134954 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W T T W 9 goEH ¢ U Ak ek FUR R agmwW O, @

JEH B .. 3l

If there is no non-negative replacement ratio in solving a linear programming problem then
the solution is

(a) WId/Feasible (b) UR¥g/Bounded
(c) ™R UREE/Unbounded (d) ¥Fid/nfinite
Options :
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134954 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ D T S B QH o U a Bk BUR R euW g,
TIB BT e gl

If there is no non-negative replacement ratio in solving a linear programming problem then
the solution is

(a) U/Feasible (b) UGS/ Bounded
(c) TRURGE/Unbounded (d) 3Fd/Infinite
Options :
1.a
2.b
3.cC
4.d

Question Number : 20 Question Id : 7715134955 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

el 4u T UU g, U W 129 N0 W G ST U & SRER MRS teld Uu W
gl 991 990, 3G 4 e & Te §e] &1 Ued @l g, U0 ........... e e
T @ T gl

A petrol pump has one pump; vehicles arrive at petrol pump according to poison input process at

average of 12 per hour. The service time follows exponential distribution with a mean of 4 minutes,
the pumps are expected to be idle for

(a) 3/5 (b) 4/5 (c) 513 (d) 6/5

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134955 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol 70 % 0% U 3, U 123 A0 R O S U $ ER M e iU W
gl a1 990, G 4 e & e sed @1 UeH dXdl g, G0 ..., 79 e
T4 B TUIET gl

A petrol pump has one pump; vehicles arrive at petrol pump according to poison input process at

average of 12 per hour. The service time follows exponential distribution with a mean of 4 minutes,
the pumps are expected to be idle for

(a) 35 (b) 4/5 (c) 513 (d) 6/5

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134956 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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U6 &1 ®d R 2500 FaaT U 70 4 9 5 o T o fe e fafaf 1200 @R
e mrmdm . %

At a work place 2500 observations were conducted and it was found that the activity under study
occurred 1200 times; the limits of accuracy is

(a) 2% (b) 5% (c) 4% (d) 2.5%

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134956 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T O /T N 2500 F0F 5T T 4 9 T U T o {6 ey Rt 1200 9K
R U 1 1 AU g

At a work place 2500 observations were conducted and it was found that the activity under study
occurred 1200 times; the limits of accuracy is

(a) 2% (b) 5% (c) 4% (d) 2.5%

Options :
1.a
2.b
3.cC
4.d

Question Number : 22 Question Id : 7715134957 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

fre ®¥/Match the following :

(1) (p) Eﬁ AT BDisassemble
(i) | T (q) | f&fd/Position

(i) | 9 () gfvf Gﬁ?fm’Assemble

(iv) | * (s) | d9G/Select

St

4id fou fawedl # ¥ Sk (i), (ii), (i) W (iv) @ U 981 83

Pick the right match for (1), (ii), (iii) and (iv) respectively from the options below:

(@) r.p,qs (b) s,q.p.r (¢) p.q.rs (d) sr,qp

Options:
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134957 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fre ®¥/Match the following :

( (p) | §ol 3e SE/Disassemble
( (q) | f&fd/Position

(i) | 9 (1) gﬁ Gﬁ?ﬁTﬁAssemble

(i (s) | 9@/Select

=

A e fadedl & @ $FE: (i), (i), (iii) W@ (iv) @ U 9 #4d I

Pick the right match for (1), (ii), (iii) and (iv) respectively from the options below:

(@) 1.p,q.s (b) 5,q.p.r (¢) p.q.rs (d) sr,q.p

Options :
1.a
2.b
3.C
4.d

Question Number : 23 Question Id : 7715134958 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
DH-@ 4RUI, B¢ I TRaa & FRC Al B TR A0 W Bisd

Which concept focuses on the continuous improvement of processes through small, incremental
changes?

(a) Wi Tidh/Poka-yoke (b) SR 3 e (W3MmEen Just-In-Time (JIT)
(c) BgoH/Kaizen (d) dcg W AfE/Value Stream Mapping

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134958 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

BA-T YR, B¢ qHE uRadd & 9Ru vkl @ TR SR W $id

Which concept focuses on the continuous improvement of processes through small, incremental
changes?

(a) U1 Uh/Poka-yoke (b) T T RA (S3EEN Tust-In-Time (JIT)
(c) B39H/Kaizen (d) 3 &M AfE/Value Stream Mapping

Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134959 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P UEE §, 1@ U ¥ el TRG o 9 TUiE e @

In work sampling, what is the primary purpose of collecting data from a process?

a) 39d UV §HY FI URHTH B To calculate the average processing time

b) ufba ¥ TRIY B UgdHATo identify bottlenecks in the process

¢) Ubu T & qHS fdEeH @1 AGTH/To estimate the standard deviation of process times
)

(
(
(
(d) TWT U @I SE BT A B To measure the overall process efficiency


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134959 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TN UfiEm §, @ U ¥ el TR o @ uiE e @ 8

In work sampling, what is the primary purpose of collecting data from a process?

(a) d WHHY IHY P WP ) To calculate the average processing time

(b) i # TRty Bl TgARHITo identify bottlenecks in the process

(c) Wishdl §HY & AF® fq9ad @1 MdHT/To estimate the standard deviation of process times
(d) GHT Vi DI CET @1 AU N/ To measure the overall process efficiency

Options :

1.a

2.b

3.C

4.d

Question Number : 25 Question Id : 7715134960 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
e elifed o oy g Ped gdftd &

What does the term "Theory of Constraints" refer to in Industrial Engineering?

a) Hiferdiy yspd Fga0 @f T /A method for statistical process control

b) IMGT WAlE & 3HeH & U U daId/A technique for optimizing production flow
¢) R AUIHH & U Uh W RF/A philosophy for waste reduction

d) TRy B UgarH W@ AueH § R o

A framework for identifying and managing bottlenecks

(
(
(
(

Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 25 Question Id : 7715134960 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e AT 7 Ry gl w6t &

What does the term "Theory of Constraints" refer to in Industrial Engineering?

a) Hiferdiy yspd Fga0 @f T /A method for statistical process control

b) IMGT WAlE & 3HeH & U U daId/A technique for optimizing production flow
¢) R AUIHH & U Uh W RF/A philosophy for waste reduction

d) TRy B UgarH W@ AueH § R o

A framework for identifying and managing bottlenecks

(
(
(
(

Options :
1.a
2.b
3.cC
4.d

Question Number : 26 Question Id : 7715134961 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gikd &6 IR /1§
What is green field project?

() BT &7 RaeHT WiRT g TR

A green field project is an environmentally friend project

(b) T &7 Ui foeelh T & e uRae R S gRT Uiiied fear o @

A green field project is a project located in a foreign country and encouraged by that country

(c) & & Uk @ U R § foed o G o tierd o v i |

A green field project is a project that involves an MNC and a firm in another country

(d) eRT & TRae @ U ORAT € S %6 T IR BN § U OIS &N 90 B ¢

A green field project is a project that starts from scratch and produces the facility that is needed.

Options :
1.a
2.b
3.C
4.d
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Question Number : 26 Question Id : 7715134961 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gRA & uRae & @
What is green field project?

(2) TRd &7 URUe TR0 pa TR

A green field project is an environmentally friend project

(b) Rd & oo faceh T @ we oRaie € R S gR oeRa e o @

A green field project is a project located in a foreign country and encouraged by that country

(c) & & ol @ U R § o o < @ geerd o o i |

A green field project is a project that involves an MNC and a firm in another country

(d) T & TRae @ U ORaT ¢ o S ¥ IR BN § U OIS &FT 9 B ¢

A green field project is a project that starts from scratch and produces the facility that is needed.

Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134962 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T8 a1 U ol & 9 & fo Fefafed d ol-¥ @is &1 um fer W &2

For thread cutting and drilling of holes which of the following codes are used?

(a) AW G-33Td G-83 / G-33 and G-83 respectively
(b) A G-83Td G-33 / G-83 and G-33 respectively
(c) AT G-81Td G-83 / G-81 and G-83 respectively
(d) PHE G-33Td G-81 / G-33 and G-81 respectively
Options :

1.a

2.b

3.c

4.d

Question Number : 27 Question Id : 7715134962 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

el & U4 ol @ 3 @ foy Fofifed @ e-9 @is @1 Swi fear 9 &

For thread cutting and drilling of holes which of the following codes are used?

(a)
(b)
(c)
(d)
Options:
1.a
2.b
3.c
4.d

PHI: G-33Td G-83 / G-33 and G-83 respectively
PHY: G-837Td G-33 / G-83 and G-33 respectively
PHT: G-81 Td G-83 / G-81 and G-83 respectively
PAT: G-33Td G-81 / G-33 and G-81 respectively

GET IT ON
Google Play

Question Number : 28 Question Id : 7715134963 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) 8 did/digits

Options :
1.a
2.b
3.c
4.d

............ ¥ Ffq g/Optiz classification system is made of

(b) L1 Sid/digits

(c)13 3fd/digits

(d)16 3iP/digits

Question Number : 28 Question Id : 7715134963 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) 8 i@/digits

Options:
1.a
2.b
3.c
4.d

............ ¥ fAfffa 3/0ptiz classification system is made of

(b) 11 3fd/digits

()13 d/digits

(d)16 3d/digits
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Question Number : 29 Question Id : 7715134964 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Hid A (EV)=250, dRAIG® TR (AC)=200 W PRI 7H (PV)=350 & T T o feal
T g1 A e YEeid (@diaE) @1 o @l

Given a project with Earned value (EV)=250, Actual Cost (AC)=200 and planned Value (PV)= 350.
Find out the cost Performance Index (CPI).

(a) 0.71 (b) 1.25 (c) 140 (d 08

Options :
1.a
2.b
3.¢
4.d

Question Number : 29 Question Id : 7715134964 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o AF (EV)=250, dRdd® o (AC)=200 T4 FRIfd #H (PV)=350 & ¥ & o fea
T g1 A e Yaeid (@deR) &1 ud ol

Given a project with Earned value (EV)=250, Actual Cost (AC)=200 and planned Value (PV)=350.
Find out the cost Performance Index (CPI).

(a) 0.71 (b) 1.25 (c) 140 (d) 08

Options :
1.a
2.b
3.cC
4.d

Question Number : 30 Question Id : 7715134965 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T Wied U9 dad JEH @1 260000 3 @lel 1 10 T & 3fd 0 9@ HEE AT 212000
HAT 51 R e fder &1 S B gU HgAd Fad UieRd S ... ... &

An automatic screw cutting machine has been purchased for 260000. Its scrap value at the end of 10
years is estimated as 12000. Fixed percent depreciation estimated using sinking fund method is:

(a) 13.9% (b) 14.9% () 15.9% (d) 14%

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134965 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T Watd U9 o #EH @1 260000 3 @lel 1 10 T & 3fd 0 9@ HEE AT 212000
HAT 51 R e fder &1 S B gU gAHd Fad UieRd e ... ... &

An automatic screw cutting machine has been purchased for 260000. Its scrap value at the end of 10
years is estimated as 12000. Fixed percent depreciation estimated using sinking fund method is:

(a) 13.9% (b) 14.9% () 15.9% (d) 14%

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134966 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

TCTey T & T Feiaied @@ @ A &Y

Match the following curves with corresponding cost:

Cost 1

/ |
rd
- - 4
3
Orderqsantjly
(a) D Td/Total cost (b) oFd¥Y1 TIId/Setup cost
(¢) 3G dFTd/Production cost (d) ¥RUT dFId/Holding cost

et fawed gH/Choose the correct option:

A B C D
@l 4 3 2
by 4 1 3 2
1 4 2 3
@4 1 2 3
Options :

1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134966 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

TCTey T & T Feiaied @@ @ A &Y

Match the following curves with corresponding cost:

Cost \ /1
U/z
rd
- - 4
3
Orderqsantjly

(a) D Td/Total cost (b) oFd¥Y1 TIId/Setup cost
(¢) 3G dFTd/Production cost (d) ¥RUT dFId/Holding cost

et fawed gH/Choose the correct option:

A B C D
@l 4 3 2
by 4 1 3 2
1 4 2 3
@4 1 2 3
Options :

1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134967 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Gqferd Fae 9o & JHYE ... ... & BRU g ¢

Solution to the balanced assignment problem is binary due to

(a) Y@ FAE linear formulation

(b) 3iR&d U &F/non-empty feasible region
(c) f¥ded URIRYH/approximation algorithms
(d) THi® U uni-modularity property


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134967 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Gqford Fod IO & 9HEH ... & BRU gy §

Solution to the balanced assignment problem is binary due to

(a) Ya® A linear formulation

(b) 3iR&d U &F/non-empty feasible region
(c) UlEded TwIRYA/approximation algorithms
(d) THi® T /uni-modularity property

Options:
1.a
2.b
3.¢
4.d

Question Number : 33 Question Id : 7715134968 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ FRE0 GO, Sl JEH 31 WA & U 186¢ § 06 & oY | @ e @1 U aRdl
gl AOO-T0, 14 9¢ & TRWd & W 99 (THEICRR) & 91 RO Gy &1 U oel
gl UG I T 222,500 Wi ge €, of R USHARE (3H) & BRU SFHIMA Do Sdeahd
T 5

Arrival of machines for repair in a maintenance shop follows a poisson distribution at a rate of one
per 18 hours. The time to repair follows an exponential distribution with Mean Time To Repair
(MTTR) of 14 hours. If the productivity loss is 322,500 per hour, then the total expected loss of
productivity due to machine breakdowns ( T) is:

(a) 78,750 (b) 1,01,250 (c) 11,81,250 (d) 14,17,500

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap
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3.C
4.d

Question Number : 33 Question Id : 7715134968 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ HRE0 GO, Sl AR 31 WA & [ 186¢ # W & @ R @ deq @1 U aRdl
g AOHT-T0, 14 9¢ & TOMd & W 99 (THOICOR) & 9N RO Gy &1 U ol
g1 e S @ 222,500 0R 4 €, o WEi UeHAERE (3H) & SRU SHHFD 9 SdcdHdl
GG A 5

Arrival of machines for repair in a maintenance shop follows a poisson distribution at a rate of one
per 18 hours. The time to repair follows an exponential distribution with Mean Time To Repair
(MTTR) of 14 hours. If the productivity loss is 322,500 per hour, then the total expected loss of
productivity due to machine breakdowns ( ) is:

(a) 78,750 (b) 1,01,250 (c) 11,81,250 (d) 14,17,500

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134969 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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@ T ¥ weAn & fou fuiva o SaRl & sa FEER

Data on five products to be processed on a single machine is given below:

Jag | WRF g | venn ewg | froa fafd
Product | Release time | Processing time | Due date
P 0 3 10
Q 2 4 0
R 0 2 15
S l 3 11
T l 1 13
wHHu 9uft R-P-S-T-Q & v, od i ........ g
For the processing sequence R-P-S-T-Q, total tardiness is
(a) 10 f&T/days (b) 15 f&/days (c) 11 &V days (d) 12 f&T/days
Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134969 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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@ T ¥ weAn & fou fuiva o SaRl & sa FEER

Data on five products to be processed on a single machine is given below:

Jag | WRF g | venn ewg | froa fafd
Product | Release time | Processing time | Due date
P 0 3 10
Q 2 4 0
R 0 2 15
S l 3 11
T l 1 13
wHHu 9uft R-P-S-T-Q & v, od i ........ g
For the processing sequence R-P-S-T-Q, total tardiness is
(a) 10 f&T/days (b) 15 f&/days (c) 11 &V days (d) 12 f&T/days
Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134970 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W U0 YR (@ &%) o, N @RI deT & R 2 IR U 9 & W & I I 5l W@

FR & YR & o R (e | 79 & Y Reds! g BAR § S Wi 9 (e
1, ———— &

In a service centre, cars arrive according to Poisson distribution with a mean of 2 cars per hour. The
time for servicing a car is exponential with a mean of 15 minutes. The expected waiting time (in
minute) in the queve is:

(a) 10 (b) 15 (c) 25 (d) 30

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134970 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 99 ¥R (@ &%) #, I Gl de7 & R 2 OR U 9¢ & WE & 9 o 5l W@
FR & WA & fou g (e d) T9 & Gy RUdo! g1 daR ¥ EHd el T (e
[ 3

In a service centre, cars arrive according to Poisson distribution with a mean of 2 cars per hour. The

time for servicing a car is exponential with a mean of 15 minutes. The expected waiting time (in
minute) in the queue is:

(a) 10 (b) 15 (c) 25 (d) 30

Options:
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134971 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TH 3% @I D A 19845 ZFE § 991 Ide @ 100 I Hid e B1 Wi gie I (omae
a1 Blgd) 250, WA YRV GG 210 Ud aR I Ui o0aRl 3520 &1 B e arld
ol 37 B & U Ui o & Rue ¥ AT 99 afiedd A fea g

The annual demand of an item is 19845 units and the production rate is 100 units per day. The per-
unit production cost (excluding setup cost) is 50, the per-unit holding cost is 210 per year and setup

cost is T 520 per setup. What is the optimum quantity to be produced per setup to minimize the total
annual cost?

(a) 2127 gF2/units (b) 2130 e units
(c) 3000 Zf¥/units (d) 3500 Zf¥e/units
Options :

1.a

2.b


https://applink.adda247.com/d/XhqWf9lSap
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3.C
4.d

Question Number : 36 Question Id : 7715134971 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WP % @ diffd T 19845 e § qul IaAGT @ 100 gHe Ui fed &1 Ui gfte S (e
A @1 Bledt) 250, Wid YRV A 210 T HaR AP WA HERI 3520 1 o dite arrd
o 3 & o o oo & RUE ¥ Sae 9 sfiead AE e @

The annual demand of an item is 19845 units and the production rate is 100 units per day. The per-
unit production cost (excluding setup cost) is 250, the per-unit holding cost is Z10 per year and setup

costis T 520 per setup. What is the optimum quantity to be produced per setup to minimize the total
annual cost?

(a) 2127 gfe/units (b) 2130 Zf¥e/units
(c) 3000 Zf¥/units (d) 3500 Zf¥e/units

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134972 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1@ I a9, 5 67 & §W & f9R ufRifed 7 €8 & ot g1 fofey o weal & fou e
T TR B

A production line operates 7 hours a day in a 5-day week. The processing times for various job
elements are as follows:

@[ Ted/Job element plq|r|s |t

TpHUT THY(s)/Processing time(s) | 5 | 10| 12 3 | 15

e @ B i@ Ui g 8400 I & A8l & fou @ T 5, d@f dgfow w0 4
HAE Y I B I G L. [

[ the line is designed for an output of 8400 units per week, the theoretical minimum number of work
stations required is:

(a) 7 (b)3 (c)4 (d) 11


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 37 Question Id : 7715134972 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
TP IAG 3W, 5 61 & T & SRR Widfed 7 ©¢ PH ol ¢ fafay o gedl & fow weHw

T PR

A production line operates 7 hours a day in a 5-day week. The processing times for various job

elements are as follows:

@[ ¥ed/Job element P | q

AU THY(s)/Processing time (s) | 5 | 10

12

15

e dRA & AWHE Ui B 8400 I & AP & fU @ R 5, dl Ugifdd & I

ARG B R B I G ... &

If the line is designed for an output of 8400 units per week, the theoretical minimum number of work

stations required is:

(@) 7 (b)3

Options:

1.a

2.b
3.¢C
4.d

(c)4

(d) 11

Question Number : 38 Question Id : 7715134973 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

(
(
(
(

REL chart is used in

a) Tl U§4/ Quality management
b) S9dedl W/ Inventory management
¢) Gfa4T WdeM/Facility management

)
)
)
d) AFd T4 YeltA/Human resource management
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Options:
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134973 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

REL chart is used in

(a) TUTAT W§8/ Quality management

(b) §9dedl WeeH Inventory management

(c) §faem UdeF/Facility management

(d) AFd T4 WeltF/Human resource management

Options :
1.a
2.b
3.cC
4.d

Question Number : 39 Question Id : 7715134974 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T T UG W OH, 100% & GHURU & 9y WHR GAT 1405 @ls (oA TN 2% 6
TG & WY, ¥bs § ANG T foa §7

In a work study experiment, normal time was recorded as 140s with a rating of 100%. Considering
2% allowance, what is the standard time in seconds?

(U GIHcd i wﬁﬁm ®Vround off to 1 decimal place)
(a)142.9 (b) 145 (c) 120.7 (d) 119

Options :
1.a
2.b
3.c
4.d
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Question Number : 39 Question Id : 7715134974 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T YO & U W H, 100% & GEURU & WY YA YT 140s W@ls 6 T 2% &
THG & WY, g ¥ 9H6 T foa o7

In a work study experiment, normal time was recorded as 140s with a rating of 100%. Considering
2% allowance, what is the standard time in seconds?

(W& c¥Mad H quficed HYround off to 1 decimal place)

(a)142.9 (b) 145 (c) 120.7 (d) 119

Options :
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134975 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofofed 9 N GOR &

Consider the following statements:

I e el 3 @ e & fou w R selid dei 2l

Concurrent engineering is a non-integrated approach for designing a product.

R 1 o A e B M e i B

Concurrent engineering carries out all product development functions in a sequential manner.

[, 99adf S, Sae fee @ 99-99 ol 39 3 6

Concurrent engineering reduces the lead time for the product development.

V. T9ad geiad, S 06 3 -4 @ serl 6l

Concurrent engineering increases the lead time for the product development.

Pffed 4 3 98 Fiow 3

Choose the correct option from below:

(a) WA | & gonly 1 is True

(b) T I Tg &/Only Il is True

(c) 1 3R 1T S & §/Both I and 11 are True

(d) T 3R IV &N Tt €Both I and IV are True


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134975 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofafed @ W fGER &

Consider the following statements:

I e Selifad S o e & fu w iR seeld dbei 2

Concurrent engineering is a non-integrated approach for designing a product.

1L Woad Seliad, o S oo &l o e ™o ¥ o 9 8l

Concurrent engineering carries out all product development functions in a sequential manner.

I J9ad 3oia, S Ao 1 9g-U &1 &9 & gl

Concurrent engineering reduces the lead time for the product development.

IV. T Zuiad, S e 3 -4 & sl &l

Concurrent engineering increases the lead time for the product development,

ffofed 4 ¥ W faod 3

Choose the correct option from below:

(a) WA | & gonly 1 is True

(b) 5 I g &/Only III is True

(¢) 1 3R 11 GHT @5t 2/Both I and 11 are True

(d) TII 3R IV &1 §&t &Both I and IV are True

Options:
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134976 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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W OO die ®0 ¥ Tl @ @ie ol gl Ud o @ diie YRU TG 230 g1 A S
il 230 8, of e aeR AR ..., 3

A company procures 384 parts annually. The annual holding cost per part is 7 30. If the ordering cost
is Z 1000, then the economic order quantity is :

(a) 360 (b) 258 (c) 160 (d) 85

Options :
1.a
2.b
3.C
4.d

Question Number : 41 Question Id : 7715134976 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W B0 die & ¥ G o Wie o gl W0 o 1 die YRY T 230 81 A s
I 230 §, @ od IR AR .......... g

A company procures 384 parts annually. The annual holding cost per part is Z 30. If the ordering cost
is 21000, then the economic order quantity is :

(a) 360 (b) 258 (c) 160 (d) 85

Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134977 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Adda2d7
In Value Engineering approach, the value of the product is

(a) 9 Yo o SHHRUIG Ud FTd o U SfIIfe &
inversely proportional to its functions and directly proportional to its cost

(b) e Y o Wi SUITdP Ud I o YebHMUTd| 8
directly proportional to its functions and inversely proportional to its cost
(c) I YTd Ud VT o oGh AU
inversely proportional to its functions as wells as its cost
(d) 3G Y U T o Gt Sl
directly proportional to its functions as well as its cost
Options:
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134977 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

In Value Engineering approach, the value of the product is

(a) T YT o FGHARIRN T T & Ui AFIios &
inversely proportional to its functions and directly proportional to its cost
(b) 39 W o W ST T TG b SJhAT &
directly proportional to its functions and inversely proportional to its cost
(c) T WP TG NI o oGhARIH
inversely proportional to its functions as wells as its cost
(d) I YT Ud AT o WY S
directly proportional to its functions as well as its cost
Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134978 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Faffed # 9 $H-91 g9 Fare 6 o) wored & eridT § T 8

Which one of the following is NOT in the scope of Enterprise Resource Planning (ERP) system ?

a) MY TIdl Uidi®/General ledger entries

b) Uer et Wocil/Materials management system
¢) G Ya¥H WO/ Order management system
d) $HIR UGHi ifd/Employee promotion policy

Options :

(
(
(
(

1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134978 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frafeifed & ¥ $H-T 9o T I (SR ol & eried A T g2

Which one of the following is NOT in the scope of Enterprise Resource Planning (ERP) system ?

a) JHM Grdl UidP/General ledger entries

b) Terd e WOIcil/Materials management system
¢) 3G¥ Vet WOlcl/Order management system
d) $HIN UGHf ifd/Employee promotion policy

Options :

(
(
(
(

1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134979 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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groft H el o5 & @ & U §The table gives details of an assembly line.

1 WY/ Work station

I

II

Il

IV

vV VI

o ¥ R o0 o0 991 (B §)

Total task time at the workstation (in min)

10

TUGel! T @ A G&dl fbel 8

What is the line efficiency of the assembly line?

(a) 70% (b) 75%

Options :
1.a
2.b
3.c
4.d

(c) 80%

GET IT ON
Google Play

Question Number : 44 Question Id : 7715134979 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gt el o3 & & G U §/The table gives details of an assembly line.

1 WY/ Work station

I

II

il

IV

V | VI

oM W¥H R §q 30 ¥ (e )

Total task time at the workstation (in min)

10

Tl WA B e Gadl fhd 8

What is the line efficiency of the assembly line?

(a) 70% (b) 75%

Options :
1.a
2.b
3.C
4.d

(c) 80%

Question Number : 45 Question Id : 7715134980 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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waeh TR # GO @ W@ & o, Ui aeed @ e fow T g W@ HER: 10,8,6,9T 10
e &1 W0 od ¢ O & fog YW fade ........... gl

Inan assembly line for assembling toys, five workers are assigned tasks which take times of 10, 8, 6,
9 and 10 minutes respectively. The balance delay for line is

(a) 433% (b) 14.8% (c) 14.0% (d) 16.3%

Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134980 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wWedl A ¥ fEdH & W & foy, Ui ougd @ e few T 8 @ BEe: 10,8,6,9T 10
firie &1 979 od ©) 75T & fog 9w fade ... ¢l

In an assembly line for assembling toys, five workers are assigned tasks which take times of 10, 8, 6,
9 and 10 minutes respectively. The balance delay for line is

(a) 43.3% (b) 14.8% (c) 14.0% (d) 16.3%

Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134981 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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7

5 Y05 T W AR R

A linear programming problem is shown below.

JAM T ddb ggH/Maximize

T [d/Subject to

St e e v & fou fefefed F € ait-w W e

Which of the following is correct for the above linear programming problem

2) ST g ﬂ%’g’ﬁE’ T 3/t has unbounded objective function
b) WM & Wl W UM oIt has exactly one optimal solution
¢) 30 Gl WG SPOH UM g/t has exactly two optimal solutions
d) S 3T U ¥ F5 S0 UM gt has infinitely many optimal solutions

(
(
(
(

Options :
1.a
2.b
3.c
4.d

I+Ty<10

GET IT ON
Google Play

Question Number : 46 Question Id : 7715134981 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

5 X0 T W A T R

A linear programming problem is shown below.

JAM T ddb ggH/Maximize

T [d/Subject to

St e e v & fou fefefed F € ait-w W e

Which of the following is correct for the above linear programming problem

2) ST g ﬂ%’g’ﬁE’ T 3/t has unbounded objective function
b) WM & Wl W UM oIt has exactly one optimal solution
¢) 30 Gl WG SPOH UM g/t has exactly two optimal solutions
d) S 3T U ¥ F5 S0 UM gt has infinitely many optimal solutions

(
(
(
(

Options :

I+Ty<10
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1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 47 Question Id : 7715134982 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tet TTd &l HaH $UMatch the CORRECT pairs.

Learning curve

JU/Group I JU/Group II
P. AT HEH G 1. B8 & HFD YHY Bt UgdH BRI §
Man-machine chart Determines standard time of jobs
Q. UM TH 2. BW B B 3fedd WOIE &1 Gdl @ §

Finds the preferred method of doing work

R @ HEH 3. %/ QYR @1 910 &l &
Time study Measures work improvement

S. T 3 4. Freprd 9wy B A B
Motion study Shows idle times

% # ¥ w5l fade &1 984 $YChoose the correct option from below:

(a) P-2, Q-3, R-4, S-1
(c) P-4, Q-1,R-3, 82

Options:
1.a
2.b
3.C
4.d

(b) P-3,Q-2, R4, S-1
(d) P-4,Q-3,R-1, S-2

Question Number : 47 Question Id : 7715134982 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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el I &1 A $YMatch the CORRECT pairs.

JU/Group I TU/Group 11
P. HId HIH @1 1.1 & AD §HY B UgaH Bl 3
Man-machine chart Determines standard time of jobs
Q. M I 2. P/ HA B 2fesd WO B Ul Sl @
Learning curve Finds the preferred method of doing work
R. @ HEH 3./ YR @1 A0 &l &
Time study Measures work improvement
S. T e 4. Pt w90 ot i 3
Motion study Shows idle times

% o ¥ O fddew &1 99 HYChoose the correct option from below:

(a) P-2, Q-3, R4, S-1 (b) P-3,Q-2, R4, S-1
(c) P-4, Q-1,R-3,8-2 (d)P-4,Q-3,R-1, -2

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134983 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

¢ B TP YA TEwd R & G GR0 Bed Bl od S0 TH WG WHad qal &
AR W22 e o fpfewd wy F @it ol & T @ wied L. %

Let @ denote the cumulative distribution function of the standard normal random variable. The

probability that all activities on the critical path, based on the mean activity duration, are completed
in 22 days is:

(a) 71(0.333) (b) ®71(0816) (c) ®71(l.664) (d) ©7(2.235)

Options:
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap
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3.C
4.d

Question Number : 48 Question Id : 7715134983 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

O B HHG YHH TE@d R & J9dl R0 Bed @ YT & 9H 9 Gl ol &
R W22 fo o fewa vy o o mifafil & v & wited L. 8

Let @ denote the cumulative distribution function of the standard normal random variable. The
probability that all activities on the critical path, based on the mean activity duration, are completed
in 22 days is:

(a) ®71(0.333) (b) ®71(0816) (c) ©71(L664) (d) DL(2.239)

Options :
1.a
2.b
3.cC
4.d

Question Number : 49 Question Id : 7715134984 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fgfafed 4 ¥ e W 9 8 Uy QogH @ W oH-a 8

Which among the following is a method for resolving degeneracy in a linear programming problem

() T @ &Y TOTCH/Charne’s Perturbation Method
(b) f§ TRW WMl Two Phase Method

(c) PHY T JUTCH/Carners M Method

(d) b d ¢ GHIBoth b & ¢

Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134984 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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ffifed & ¥ XE W 9 7 AuyEd g @1 g - e

Which among the following is a method for resolving degeneracy in a linear programming problem

a) I I &MY WOTel/Charne’s Perturbation Method
b) f§ TRU WO/ Two Phase Method

¢) B4 T UTell/Carners M Method

d) b d ¢ SHIBothb & ¢

Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134985 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T, Wi 9¢ 20 & 30 @ & 9y G WHH & YR R U6 i NI T 9@ e A

A 1 0 Med B Wl o U e T A 100 ¥bs & A & WY TG 6T g
Ubs A 1 Ted & BAR H G Y- F1 T el

Customers arrive at a sales counter manned by a single person according to a
poisson process with a mean rate of 20 per hour. The time required to serve a

customer has an exponential distribution with a mean of 100 seconds. Find the
average waiting time of a customer in the queue in seconds

(a) 125 (b) 135 (c) 225 (d) 115

Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134985 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Ted, Ud °9¢ 20 & 90 X & Y W WHA & YR W U6 oied g QU o sl §

A B U Ted P GG & Y awe TG A 100 ¥bS & AW F WY RS 8 3
Yos 7 1 Mo & BAR H G Flen-99d 31 T o

Customers arrive at a sales counter manned by a single person according to a
poisson process with a mean rate of 20 per hour. The time required to serve a
customer has an exponential distribution with a mean of 100 seconds. Find the
average waiting time of a customer in the queue in seconds

(a) 125 (b) 135 (c) 225 (d) L15

Options:
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134986 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4T & FITH H@ F A d 210,000 AC & T WANRIT UGRY HI YA SR el 2
200081 f3 FAH dqfed Y &1 9w o, @ 9 & 916 $a I .......... &

A lab equipment costing ¥ 10,000 has an anticipated salvage value of Z 2000 at the end of its 4-year
depreciable life. Using double declining balance method, the total depreciation after two years is:

(a) 5000 (b) 77300 (c) 7500 (d) 28000

Options :
1.a
2.b
3.C
4.d

Question Number : 51 Question Id : 7715134986 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

4T & FITT HM G A d 10,000 A & T WANRIGT UG H TR ISR I 2

200081 & 3RAM Ygfer fafY &1 Swam &), & 9 & a6 I A .......... &
A lab equipment costing Z 10,000 has an anticipated salvage value of Z 2000 at the end of its 4-year

depreciable life. Using double declining balance method, the total depreciation after two years is:

(a) %5000 (b) 77300 (c) T7500 (d) 78000

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134987 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T g | Fgfafed § 9 oH-@ 5 700 Therblig' ¥ ¥afd g
Which of the following hand-motion belongs to 'Therblig' in motion study?

. uRer facid/Unavoidable delay 2. JdW¥/Pre-position 3. T8/Select
4. fim/Pick 5. famre/Lift

(a) 1 Tdand 4 (b) 1 Wd/and 5 (c) 1,2Wdand3  (d) 2,3 Ud/and 4

Options :
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134987 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T g | Fgfafed § 9 oH-0 5 700 Therblig' ¥ ¥afd § 2
Which of the following hand-motion belongs to 'Therblig' in motion study?

. uRer facid/Unavoidable delay 2. JdW¥/Pre-position 3. T8/Select
4. fim/Pick 5. famre/Lift

(a) 1Td/and 4 (b) 1 Td/and 5 (¢) 1,2Td/and3  (d) 2,3 Ud/and 4

Options :
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134988 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

- Fifde fFGE 99 & 9 T @ AR 3.4 DPMO 35 R tRae # veH " R 3 YR
o 8

What is the assumption in process mean shift in the concept of 3.4 DPMO six sigma towards the side
with the critical specification limit?

(a) 6 & Isigma (b) 2.5 ferml/sigma
(c) 1.5 R&misigma (d) 3 Rt sigma

Options :
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134988 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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- wifae ST W & Iy oY @ AR 3.4 DPMO B8 o thee T | ved A1 A 3 9Rom
foat &

What is the assumption in process mean shift in the concept of 3.4 DPMO six sigma towards the side
with the critical specification limit?

(a) 6 HI/sigma (b) 2.5 e l/sigma
(c) 1.5 ™ I/sigma (d) 3 f&™I/sigma

Options :
1.a
2.b

3.¢C
4.d

Question Number : 54 Question Id : 7715134989 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofifed Fyae® & (A) T 0 R (R) R fGER &

Consider the following assertion statement (A) and its reason (R)

YIRS FU/Assertion (A): de] oY, TEd WG Bl T & & U I T
1 3 @ e @ deH ¥ Wit g

Value Engineering is concerned with increasing the quality of the product at enhanced cost to
fulfil the customer requirements.

FRU/Reason (R): Ted DA ool § 9aq W1 & 7ul fakmm Sam @1 #fod el @i
HTGHAA B [ B & WY 1 Al B

Customer requirements are changing very rapidly and survival of a manufacturing industry is
linked with fulfilling the customer’s requirements

fgfafed & ¥ fdded T9/Choose the correct option from the below:
() ATRSH T § ™R A T T TWIH 7

Both A and R are frue and R is the correct explanation of A

(b) A TR T TE € AT R A &1 T Wi T 2

Both A and R are frue but R is NOT the correct explanation of A
(c) A W&l § T R TAd g/A s true but R is false
(d) A 0@ § e R WEl B/A is false but R s true

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134989 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o Fyaee & (A) T 0 R (R) R fGER &

Consider the following assertion statement (A) and its reason (R)

4IRS FU/Assertion (A): de] SOIFAY, TEd HWHAH Bl T FH & G0 I A
1 3 @ e @ deH ¥ Wit g

Value Engineering is concerned with increasing the quality of the product at enhanced cost to
fulfil the customer requirements.

FRU/Reason (R): Ted MDA ool § 9a0 W1 & aul fakmm Sam &1 #fod el @i
HTGHAA B [ B & WY 1 Al B

Customer requirements are changing very rapidly and survival of a manufacturing industry is
linked with fulfilling the customer’s requirements

fgfafed & © W& fdded T9/Choose the correct option from the below:
() ATRCH T § R A & T WK 7

Both A and R are frue and R is the correct explanation of A

(b) A TR T T8 2 AT R A B T Wi T 2

Both A and R are frue but R is NOT the correct explanation of A
(c) A W&l § T R TAd g/A s true but R is false
(d) A 0@ § e R WEl B/A is false but R s true

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134990 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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figd 9R Wl & GRF 9dC & foshl W@ ¥ @R el & fou HA: 860, 880, 870 T 890 e
& 9 e & fou GEAN 876 gFe @1 1l WHRY Redi@! TR &1 SN @) afc gied 9
¥ o wEEn 9 e 1w @ o v el EeE ¢ 9EE R, @ Fufifea # @
DH-H WIS IR RIS &1 Whide 91

The sales of a product during the last four years were 860, 880, 870 and 890 units for years one to
four respectively. The forecast for the fourth year was 876 units. If the forecast for the fifth year,
using simple exponential smoothing, is equal to the forecast using a three period moving average,
which of the following is the approximate value of the exponential smoothing constant?

(a) 0.285 (b) 0.516 (c) 0.76 (d) 0.17

Options:
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134990 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fgd 9R Wl & GRF 9dE &1 il @ ¥ 9R el & fou HAE: 860, 880, 870 T 890 Tf¥e
) 9 T & U EEE 876 TR &1 Ul WURY Rekior R B 30N @ 4 Thd Y
% o g@ie @ oef Tiee we @1 Swn = fed Eie ¢ e 3, @ Ruffed o 9
DH-H WIS IR RIS &1 Whde 41 8

The sales of a product during the last four years were 860, 880, 870 and 890 units for years one to
four respectively. The forecast for the fourth year was 876 units. If the forecast for the fifth year,
using simple exponential smoothing, is equal to the forecast using a three period moving average,
which of the following is the approximate value of the exponential smoothing constant?

(a) 0.285 (b) 0.516 (c) 0.76 (d) 0.17

Options :
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134991 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Correct Marks : 1 Wrong Marks : 0.33000001311302185
Fgfifed & ¥ oH-91 R e wleu

Which of the following is non-parametric test

(a) eI t-O80/ Paired t-test (b) T TEgaeH/Pearson Correlation
(c) Ul d ANOVA/One way ANOVA (d) MWW T MWW Test

Options:
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134991 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fgfifed # ¥ aH-u R weke Wy &

Which of the following is non-parametric test

(a) JIfeid O8O/ Paired t-test (b) TR Tegae/Pearson Correlation
(c) Udhd d ANOVA/One way ANOVA (d) MWW THIEO/MWW Test

Options :
1.a
2.b
3.cC
4.d

Question Number : 57 Question Id : 7715134992 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol fuar RasH weed |, R Bltad faa o Biied jea & du W@ i ¥
......... e §

In critical chain project management, the extra time that's placed between the non-critical chain and
the critical chain is known as :

(a) TRESHT dhY/Project buffer (b) THTEH §WYResource buffer
(c) WITET §WYFeeding buffer (d) ¥ W (1 Flc) Free float


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134992 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e T e W A, R Rod jua @ HRed jua & 98 @ oRRw 9 @
......... e o

In critical chain project management, the extra time that's placed between the non-critical chain and
the critical chain is known as :

(a) RS dhY/Project buffer (b) THTEH WY/Resource buffer
(c) WITET §WYFeeding buffer (d) T @ (B ®iC) Free float

Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134993 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal247

TR H M 48 3 IR G R Ay UHT & o od IRadd e o

How do the oscillations of the bullwhip effect change as you move up the supply chain?

(a) TUCR T & Tl  Mfdwdisl 0@ IR Wd TH R gled T R We: JURd o &
The oscillations, or fluctuations, self-correct as one moves up the supply chain from consumers
to suppliers.

(b) JUTE T F T T el 7@ IW W W R Qe T HRRd RR 9 R

The oscillations, or fluctuations, are constant as one moves up the supply chain from consumers
to suppliers.

(c) WU o & Wed!  Afdad 9@ PN W o R g W AR B gt o Bl
The oscillations, or fluctuations, get smaller as one moves up the supply chain from consumers
to suppliers.

(d) U o & TEd! § Aead 0@ PR W oH R g a1 HfERA 91 B o gl
The oscillations, or fluctuations, get larger as one moves up the supply chain from consumers to
suppliers.

Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134993 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

TR H M 48 3 IR G R Ay UHT & o od IRadd e o

How do the oscillations of the bullwhip effect change as you move up the supply chain?

(a)

(b)

(c)

(d)

TR < & Ted! ¥ Ag@dst 76 IR Gd a1 R aod T T W JRd 9
The oscillations, or fluctuations, self-correct as one moves up the supply chain from consumers
to suppliers.

TR < & Ted ¥ i 7@ SR Ud oH | o 7 HERa BR & 8

The oscillations, or fluctuations, are constant as one moves up the supply chain from consumers
to suppliers.

R0 R 0 1 7 B el A . o A B £ B 11 R A
The oscillations, or fluctuations, get smaller as one moves up the supply chain from consumers
to suppliers.

T, < & TRH ¥ Afdddist 7@ IR W OF R qied 0 SR ae gl o gl
The oscillations, or fluctuations, get larger as one moves up the supply chain from consumers to
suppliers.

Options :

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 59 Question Id : 7715134994 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W@ da47 § AEE o 9 65 @ 85 & d9 WOIRW ¢l W@ UG 00 [ TR Ui,
[ofaféd 7M: 60, 78, 70, 84, 81, 80, 85, 60, 88, 75 UGH HXdI &l Widddd HHG fd@eH 9.905 HHI

T gl Y A GEen (@ @A g:

The relative humidity limits in an enclosure is expected to be between 65 and 85. Random samples
taken over a period of one week yield the following values: 60, 78, 70, 84, 81, 80, 85, 60, 88, 75. The

sample standard deviation is found as 9.903. The value of lower capability index (CPL) is:

(a) 0.337 (b) 0.374 (c) 0.274 (d) 0.153

Options :

1.a
2.b
3.¢C
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4.d

Question Number : 59 Question Id : 7715134994 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WP q47 0 ARG s W9 65 U4 85 & dd IR gl @ UWlg 0@ [ GRS Ui,
Fofaf@d @M 60, 78, 70, 84, 81, 80, 85, 60, 88, 75 UGH &%l ! Uidad AN fdgeH 9.905 AMI
T gl Ry GEaie (@i @ AL &

The relative humidity limits in an enclosure is expected to be between 65 and 85. Random samples
taken over a period of one week yield the following values: 60, 78, 70, 84, 81, 80, 85, 60, 88, 75. The
sample standard deviation is found as 9.905. The value of lower capability index (CPL) is:

(a) 0.337 (b) 0.374 (c) 0.274 (d) 0.153

Options:
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134995 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofied 7 4 FH-1 o) @ TR @ W 999 § o3 [0 AWl & 3R B H U o
g, Fom & ST @ s @

Which of the following methods enable one worker to take charge of many different machines at a
time, thus improving productivity.

(a) ANDON (b) JIDOKA
(c) POKAYOKE (d) a @ b GHI/Botha & b

Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 60 Question Id : 7715134995 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofied 7 4 aH-1 o) @ T @ W 990 § &% O Al & 3R B H T o
g, fome o 3UeT # g

Which of the following methods enable one worker o take charge of many different machines at a
time, thus improving productivity.

(a) ANDON (b) JIDOKA
(c) POKAYOKE (d) a @ b GHIBotha & b

Options :
1.a
2.b
3.c
4.d

Aptitude Test

PartI


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 61 Question Id : 7715134996 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Water: Pitcher :: 7 : Vase

(a) Fruits

(b) Flowers

(c) lce

(d) Judad ¥ U IS T8l/None of these
Options:

1.a

2.b

3.c

4.d

Question Number : 61 Question Id : 7715134996 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Water: Pitcher :: 7 : Vase

(a) Fruits

(b) Flowers

(c) lce

(d) Iuddd H 9 ®Is "5/None of these
Options :

1.a

2.b

3.C

4.d

Question Number : 62 Question Id : 7715134997 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal247

T Rt X R0 ¥ T T otk o feru e ot ot Wifer v U U s Wi O
B W ITIR SR | el 31 A B o Wil a1 (ol e g gy 3, Bl X
Fffe & fop Ol ¥ Tt o7 T 1 T e T e g e | el R e X @
1 1 350 et o F e 1 ) - i g g

Insurance Company X is considering issuing a new policy to cover services required by
elderly people who suffer from diseases that afflict the elderly. Premiums for the policy
must be low enough to attract customers. Therefore, Company X is concerned that the
income from the: policies would not be sufficient to pay for the claims that would be made.
Which of the following strategies would be most likely to minimize Company X's losses on
the policies?

(a) Tie0 T TSI Bl B B, T P el W T b oL Tt g T el 2
Atfracting middle-aged customers unlikely to submit claims for benefits for many
years.

(b) T 32 it @) o e, o = 0 ot R o TR 3 T g g1
Insuring only those individuals who did not suffer any serious diseases as children

() Fm R 3 uifcirgt ot o o 39 wierd A ¥ S & Yaraf @i i &)
Including a greater number of services in the policy than are included in other
policies of lower cost

(d) TP 3! cufeerd 1 i e, o T il  forg o e g1 o o
1l
Insuring only those individuals who were rejected by other companies for similar

policies
Options :
1.a
2.b
3.C
4.d

Question Number : 62 Question Id : 7715134997 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal247

T Rt X R0 ¥ T T otk o feru e ot ot Wifer v U U s Wi O
B W ITIR SR | el 31 A B o Wil a1 (ol e g gy 3, Bl X
Fffe & fop Ol ¥ Tt o7 T 1 T e T e g e | el R e X @
1 1 350 et o F e 1 ) - i g g

Insurance Company X is considering issuing a new policy to cover services required by
elderly people who suffer from diseases that afflict the elderly. Premiums for the policy
must be low enough to attract customers. Therefore, Company X is concerned that the
income from the: policies would not be sufficient to pay for the claims that would be made.

Which of the following strategies would be most likely to minimize Company X's losses on
the policies?

(a) e T e Bl BN e, ol v el & M b foTl e SRl o] Tl g
Atfracting middle-aged customers unlikely to submit claims for benefits for many
years.

(b) FA 3 fakral ol 1T e, o ed o 0 bl B a1 TR 3 T BT B
Insuring only those individuals who did not suffer any serious diseases as children

() Fm R 3 uifcirgt ot o o 39 wierd A ¥ S & Yaraf @i i &)
Including a greater number of services in the policy than are included in other
policies of lower cost

(d) 7 3] ey ) e o, o e et 3 fo o e g e o

Il
Insuring only those individuals who were rejected by other companies for similar
policies

Options :

1.a

2.b

3.c

4.d

Question Number : 63 Question Id : 7715134998 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e fadedl # 9 5T Wsc GREGARIOUS @1 fauiiard i+ aTe Tea 1 90 &3
Choose one of the following options that means the opposite of the word;
GREGARIOUS

(@) Antisocial
(b) Glorious
(c) Horrendous
(d) Similar

Options :
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1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134998 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fafed fAdedt & O 5 g GREGARIOUS @1 faudiand g ara wieg &1 707 &

Choose one of the following options that means the opposite of the word;
GREGARIOUS

) Antisocial
(b) Glorious
(c) Horrendous

) Similar

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134999 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

3T TF R T WX UG o e @ SRR & T 8 o 9% <@ 81 30 UO TS 3 590 g8

AI0H DX § AR HTUD] I5 T 21dl ¢ (o 31U 375 $10.00 BH 2T §1 31 3% Ich DR o T ol
TEd 3 e 3 WoReR SIS T8l Ul | 31U T IR Tfet 7 82

You are working as a cashier at a busy gas station and mini-mart. You give a customer
their change and realize you shorted them $10.00. You see them walking to their car, but
you cannot leave the register. What is the best course of action to take?

(2) 3T UTg $10.00 &I 7@ ¢, Jfeh We P! Uell 51 el il & [ 34 ¥ et g
Keep the $10.00 since the customer did not realize they were shorted.
(b) $10.00 P Hu Aorex B d 7@ o quT I 1 5 e amo S|
Put the $10.00 in the bottom of your register and hope the customer comes back.
(c) e i e vy e @1 e S fiia o Bl pRE B
Try to get the customer’s attention on the outside speaker system.
(d) BARH @S 3T 7 B $10.00 & 71 5 75 1 A T4 FeT & 39 ¢ ! g
Give the $10.00 to a customer next in line and ask them to take it to the customer
you shorted.


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134999 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

30 U IR A9 T U4 i A A SRR & w0 3 o 0 R T 0 U5 TR 3 99 98
AITH B § AR HTUD] I5 A 51l  1oh 30 375 $10.00 BHIGUF1 31 3% I76h DR o TN Il
TEd & QT ofTT AFoReR Bl el el | AT T S i 8

You are working as a cashier at a busy gas station and mini-mart. You give a customer
their change and realize you shorted them $10.00. You see them walking to their car, but
you cannot leave the register. What is the best course of action to take?

(a) 3o UrE $10.00 Pi @ T, i Tgd ! el 1 1 7 5 fob 3 A el 5
Keep the $10.00 since the customer did not realize they were shorted.
(b) $10.00 i 3 forex B el 7@ o U1 I % (e A6 a0y S|

Put the $10.00 in the bottom of your register and hope the customer comes back.
(c) aTEd wiep RreeH TRU T8 B1 AH HHidd B Bl BT B
Try to get the customer's attention on the outside speaker system.
(d) R A S 3T Te® i $10.00 S 71 Ford T I 31 B FGT § 94 o @l g
Give the $10.00 to a customer next in line and ask them to take it to the customer
you shorted.

Options :
1.a
2.b
3.C
4.d

Question Number : 65 Question Id : 7715135000 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

T GH R G, ol 31 A & I B 0 O FRA o T s bl @1 0B o el o
YRG! 98 301 P G0 R [ 1 2, e §9 1o B8 81 & o6 999 W 9 g g
ST TR S T 75 B Tl St GRT SO 17 e St i S-81 32

Every day at the law firm, Jamie has a list of tasks she needs to complete by the end of
the day. While she generally finishes her assignments on time, some days, Jamie finds

that she cannot complete all the tasks before heading home. What is the best approach
for Jamie to take?

(a)
(b)

(d)

ot I &R o U BT O R B ST Wbl @1 ergl ol difgul

Jamie should recruit her colleagues to help her finish her tasks each day.

o 1 o & WA 5H A% 90 B 91 [ ERA ) SIS B! ey, I T aA A
e B 3 o ) o e 3 o R O aren ot o8 S 3

Jamie should try to complete all tasks by the end of the day, but if she is unable
to, there is always tomorrow fo finish the tasks.

i e Q1 3 o fere e el ol AorTeeg & & fofg ot ol &R e g @ TG
REAREIEIRY

Jamie should spend a little time every morning planning and organizing the tasks
that need to be completed each day.

ot &l U Ty U 91 D FI1RT Ud B i IR G b fofy I Hag AT IR

Jamie should talk to her supervisor and ask for their help organizing the tasks.

Options:

1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 65 Question Id : 7715135000 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

T GH R G, ol 31 A & I B 0 O FRA o T s bl @1 0B o el o
YRG! 98 301 P G0 R [ 1 2, e §9 1o B8 81 & o6 999 W 9 g g
ST TR S T 75 B Tl St GRT SO 17 e St i S-81 32

Every day at the law firm, Jamie has a list of tasks she needs to complete by the end of
the day. While she generally finishes her assignments on time, some days, Jamie finds

that she cannot complete all the tasks before heading home. What is the best approach
for Jamie to take?

(a) ST @I &R &7 0 o1 W B 8 AT TeDIHT! B! Weral ol Aieg
Jamie should recruit her colleagues to help her finish her tasks each day.

(b) S Bl T & TG B 00 dP T B [ B 3 HIRR G211 A1, 3G T HA H
e B 3 o ) o e 3 o R O aren ot o8 S 3
Jamie should try to complete all tasks by the end of the day, but if she is unable
to, there is always tomorrow fo finish the tasks.

(c) i e Q@ et @ ferw Feifed Sl ot GiorTeg &% o foft oll I 5% 161 Yag 98 ¥
REAREIEEY
Jamie should spend a little time every morning planning and organizing the tasks
that need to be completed each day.

(d) o B U Thde U a0 B M0 Ud B Bl [ B o ol a1 Heg HiTH iRl

Jamie should talk to her supervisor and ask for their help organizing the tasks.

Options:
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715135001 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Play, actor @ feiu di § ol concert ....... @ et 8/Play is to actor as concert is to

) Symphony
) Musician
) Piano

) Percussion

d
b

— — p—
L)

d

—

Options :
1.a
2.b
3.c
4.d
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GET IT ON
Google Play

Question Number : 66 Question Id : 7715135001 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

Play, actor @ fefu d1 § il concert

(@) Symphony
(b) Musician
(c) Piano

(d) Percussion

Options:
1.a
2.b
3.c
4.d

@ felU 8/Play is to actor as concert is to

Question Number : 67 Question Id : 7715135002 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

BIF-41 9 fg 2 1 Wit S&m2/Which one will replace the question mark 2

Options :
1.a
2.b
3.c
4.d

5 6 5
8 S 7
10 7 ?
400 | 378 | 315
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GET IT ON
Google Play

Question Number : 67 Question Id : 7715135002 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

HIF-41 W faig 2 1 It m2/Which one will replace the question mark ‘2

5 6 5

8 ) 7

10 7 ?
400 | 378 | 315

Options:
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715135003 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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9 Y 4l Il & A BT AR 6RO B SR-a U @1 TR A 9 8 8% 9 Aedd o

A bucket of water has a leak on its lower side. As the water level goes down, what happens
to the speed of the water coming out of the hole?

(a) el increases

)
(b) THH It stays the same
(c) HHgFiIt decreases
(d) feorid g1 St reverses

Options:
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715135003 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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9 Y 4l Il & A BT AR 6RO B SR-a U @1 TR A 9 8 8% 9 Aedd o

A bucket of water has a leak on its lower side. As the water level goes down, what happens
to the speed of the water coming out of the hole?

(a) el increases

)
(b) THH It stays the same
(c) HHgFiIt decreases

(d) feorid g1 St reverses

Options:
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715135004 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e, T HUHD (BIRBRCR) 400 NS S 9% B I3H o [T 200 TS o B wilaR bl ST
1 ¢, TR &1 FiAd Y T 32

If a firefighter uses a lever to use 200-pound force to lift a 400-pound object, what is the
mechanical advantage of the lever?

(a) 1

(b)
()
(d)

Options :

2
5
20

1.a
2.b
3.c
4.d
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Question Number : 69 Question Id : 7715135004 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0

e, T AHS (BIREECR) 400 NS B 9% B I3H o T 200 TSS9 B Sl [l ST
B €, TR &1 Jifd oy g2

If a firefighter uses a lever to use 200-pound force to lift a 400-pound object, what is the
mechanical advantage of the lever?

(a) 1

(b)
(c)
(d)

Options :

2
5
20

1.a
2.b
3.¢C
4.d

Question Number : 70 Question Id : 7715135005 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

ol & i & T S[feiu e g/All the tulips in Zoe's garden are white.
ol & i & T =9 dicd §/AIl the pansies in Zoe's garden are yellow.
1 & & & T G The 71 0 §

All the flowers in Zoe's garden are either white or yellow

e Ugel <l DY UEl 8, Al AR DY B

If the first two statements are true, the third statement is

(a) TElTrue

(b) TIdd/False

(

)
(c) MHFdUncertain
d) Iwdad TlAll of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 70 Question Id : 7715135005 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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Gl & Fiid & GHI ey Fhe g/All the tulips in Zoe's garden are white.

Gl & Fiid & gHi G- dict g/All the pansies in Zoe's garden are yellow.

w1 & Fid & G+l Pel Gl a1 Uiel §
All the flowers in Zoe's garden are either white or yellow
afe Ugd &l SY Wel 8, ol AR PYH g

If the first two statements are true, the third statement is
(a) WelTrue

(b) TIcid/False

(c) SfFfEdUncertain

(d) Iwiad Al of the above

Options :
1.a
2.b
3.c
4.d

Part 11

GET IT ON
Google Play

Question Number : 71 Question Id : 7715135006 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

1,8,4,27,9,?
(@) 8
(b) 9
(c) 64
(d) 16

Options :
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1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715135006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1,8,4,27,9,7

(
(

) 8
) 9
) 64
) 16

T

o
-

(

Options :
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715135007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HY-/Statements:

I3 HigdT AHAIUST 75T Wd Yhdl/No women teacher can play.
$o Aigdl HAMUSIY REdrel &/Some women teachers are athletes.

fA=pH/Conclusions:

(i TeN fadre! Wd Uad o/Male athletes can play
(i) ©o adars ¥d 9od 8/Some athletes can play.

(a) M (i) el g/Only conclusion (i) follows
(b) M (i) W&l g/Only conclusion (ii) follows
(c) I (i) T (i) ¥el o/Either (i) or (ii) follows
(d) A&l (i) (i) GS! 8/Neither (i) nor (ii) follows
Options :
1.a
2.b
3.c

4.d
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Question Number : 72 Question Id : 7715135007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

®Y-/Statements:
iy Higel HAMYD] Tgi @l ba/No women teacher can play.
$ Higal UG Id fEdrs! 8/Some women teachers are athletes.

f=pY/Conclusions:

()  JoY RgarS! Wd Udd o/Male athletes can play
(i) oo fGdrs Wd 9ad a/Some athletes can play.

(a) ®H (i) W6l g/Only conclusion (i) follows
(b) #H (i) WEl g/Only conclusion (i) follows
(c) (i) T (ii) Wel g/Either (i) or (ii) follows
(d) &I (i) A (i) a8l 8/Neither (i) nor (ii) follows
Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715135008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7

-1 fet 0 @W%‘?N\!hich figure completes the series?

(a)

ndlib g

(b)

¢

Options:
1.a
2.b
3.C
4.d

¢/

¢

¢
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Question Number : 73 Question Id : 7715135008 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Addal24

7

-1 fet 0 @W%‘?N\!hich figure completes the series?

(a)

ndlib g

(b)

¢

Options:
1.a
2.b
3.C
4.d

¢/

¢

¢

GET IT ON
Google Play

Question Number : 74 Question Id : 7715135009 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

for o @ Wi @7

To which group does the figure belong?

Group B @f‘é

(a A
(b) B
(c) & ATB Neither AnorB
(d) Iad WA of the above

Options:

/|98

1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715135009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Addal@7

for o @ Wi @7

To which group does the figure belong?

Group B @f‘é

(a A
(b) B
(c) & ATB Neither AnorB
(d) Iad WA of the above

Options:

/|98

1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715135010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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foet fb o 3 Wil &2

To which group does the figure belong?

]

Group B A 5"‘""

o A9 B INeither A nor B
Iy THAI of the above

Options :
1.a
2.b
3.c
4.d

y

\

"

A

\4

GET IT ON
Google Play

Question Number : 75 Question Id : 7715135010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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foet fb o 3 Wil &2

To which group does the figure belong?

A

Group A ” ‘) III

Group B A 5"‘"" i?

(a) A
(b) B
(c) T&IAB Neither Anor B
(d) I WA of the above

Options :
1.a
2.b
3.c
4.d

Descriptive
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Question Number : 76 Question Id : 7715135011 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

T G0 g f09Y oRaeERef A @ B W R @ W@ gl NG A @ A F 30,000 a1
URTISHT B &1 @Fd 236,000 §1 U0 URaie o fou Fad doHe 99w gy i A @

T &

A company is considering two mutually exclusive projects A and B. Project A costs Z 30,000 and
Project B ¥ 36,000. You have been given below the net present value, probability distribution for

each project;
TR Project A UiaIeHI Project B

TG A 3 THTI U HHH 2 HHTTl

NPV estimate Probability NPV estimate Probability
3000 0.1 3000 02
6000 04 6000 03
12000 04 12000 03
15000 0.1 15000 02

19 [0V iE @ OF H W@ URANE FRGE & R R S Ui @ Rwi #X

Compute the coefficient of variation associated with each project and recommend suitable project

based on risk quantified.

Question Number : 76 Question Id : 7715135011 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5
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T B G R RaEEE A @ B W MR & @R uRui A §1 A 2 30,000 G
UREISHI B B T 236,000 §1 Yd GRUIGHT & U Fad qoMH AH U6 Wiend foRw A a
T &

A company is considering two mutually exclusive projects A and B. Project A costs Z 30,000 and
Project B ¥ 36,000. You have been given below the net present value, probability distribution for

each project;
TR Project A URaIeHI Project B

T SHAH 3 YHIoTT T A 2 oI

NPV estimate Probability NPV estimate Probability
3000 0.1 3000 0.2
6000 04 6000 03
12000 04 12000 03
15000 0.1 15000 02

19 [0V iE @ OF B W@ IRANE SR & R W S Ui @ Rwi #X

Compute the coefficient of variation associated with each project and recommend suitable project
based on risk quantified.

Question Number : 77 Question Id : 7715135012 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

I fu uRaiem & for, ffewd Ty &1 gal @l

For a project given below find the critical path.

AT A/ Time estimates are

T/ Task —» A|B |C |D F |G |H |I |] |K
09 90/Leasttime |4 |5 |8 |2 |4 8§ [5 |3 |5 |6
feipad gHg 8 (10 |12 |7 |10 {15 [16 |9 |7 |11 |13
Greatest time

3fdd FHdd: §HY 507 |11 |3 (7 |9 |12/6 |5 |8 |9
Most likely time

dUfe/Pre requisites |- |- |A |- |BC|D |[D |EF|EF|GI|H

Question Number : 77 Question Id : 7715135012 Question Type : SUBJECTIVE Consider As
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Addal2i7

Subjective : Yes
Correct Marks : 5

I 6u uhaiem & fo, ffesa o & o @mg

For a project given below find the critical path.

AT 3HM/Time estimates are

&/ Task —» A[B |C |D|E |F |G |[H |I |J |K
I Y/Leasttime |4 [5 |8 |2 |4 8 [5 |3 |5 |6
P T 8 (10 |12 |7 [10 {15 [16 |9 |7 |11 |13
Greatest time

3dd FHId: GHY 507 (1L |3 |7 |9 [12]6 [5 |8 |9
Most likely time

dUfe/Pre requisites |- |- |A |- |BC|D |[D |EF|EF|GI|H

Question Number : 78 Question Id : 7715135013 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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T el b, TR T R e A o T 31 R e o 0 6 O B 0 )
TR I o T 1 Ter i el i oot o o, fere 7 e g ol &

In a machine shop, four jobs need to be assigned to four different machines. Each of
the jobs is to be assigned to one machine only at a time. The time taken to complete
the job in different machines is given in the table below:

Machines
M M, My M

e |25 B8 4. A7
L o|41 12 15 13

S5 |B 1 10
©

o115 17T 14 26

8 R e o o o o) vl ol T et ) T 9 A, I o G e T
qm|

In order to ensure that the total time required to complete all the jobs is minimum, find
the optimal assignment of the job.

Question Number : 78 Question Id : 7715135013 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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T el b, TR T R e A o T 31 R e o 0 6 O B 0 )
TR I o T 1 Ter i el i oot o o, fere 7 e g ol &

In a machine shop, four jobs need to be assigned to four different machines. Each of
the jobs is to be assigned to one machine only at a time. The time taken to complete
the job in different machines is given in the table below:

Machines
M M, My M

|15 13 14 17

hln o151
S5 |B 1 10
©

o115 17T 14 26

8 R e o o o o) vl ol T et ) T 9 A, I o G e T
qm|

In order to ensure that the total time required to complete all the jobs is minimum, find
the optimal assignment of the job.

Question Number : 79 Question Id : 7715135014 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

O e B G e HIT T4 3 GE o A ader 9 46 0 Sl o (g, 9 1o ol e
95% T TR AT G MG fog 1 URher! e | STt Wl TR o WY W AFch TAT Ul
A 31 1.64 AF1 o Tahel g

For a company with average daily demand of 9 units and standard deviation of 3
units, calculate the reorder point assuming a 9 day lead time and 95% service level.
The standard normal variable value associated with above service level can be taken
as 1.64.

Question Number : 79 Question Id : 7715135014 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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9 e & I & AT U4 3 e o A fager § 9 W S o (g, 9 Tt ol il @
05% Wa %R T G TG f6g 1 URet oo | STt Wl SR o 1Y s Aeh 1T el
TF 31 1.64 7F 9l 3|

For a company with average daily demand of 9 units and standard deviation of 3
units, calculate the reorder point assuming a 9 day lead time and 95% service level.

The standard normal variable value associated with above service level can be taken
as 1.64.

Question Number : 80 Question Id : 7715135015 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

foch o Rl T a1 STl 70 e 8| W o Ui, &fe 2 60 o T I gl g1 v
e T € 90,000 2, bt ReT a5 75% TR 6 ORI 6

The ratio of variable costs to sales is 70 percent. The breakeven point occurs at 60
percent of the capacity. When fixed cost is ¥ 90,000, compute profit at 75% of the
capacity sales.

Question Number : 80 Question Id : 7715135015 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

fachl o kel ST a6 9T 70 TR 1 G Frdi Ui, &Ml o 60 HIoRT I e el ) o
feac T % 90,000 &, bt e b 75% TR e o TI0FAT |

The ratio of variable costs to sales is 70 percent. The breakeven point occurs at 60
percent of the capacity. When fixed cost is < 90,000, compute profit at 75% of the
capacity sales.
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